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QUESTION 1

You are recommending the WAN link requirement per branch for a multi-location customer. The customer estimates the
branch Inter-office communication use rate over the WAN to be one trunk per 20 branch users, and there are 460 users
at each branch. You assume that after all header compressions have been applied, there is a 30% protocol overhead,
and the G.729 codec being used provides 7.2 kbps.

How much bandwidth is needed for voice traffic on the WAN link for each branch?

A. 187.2 Kbps

B. 115.9 Kbps

C. 165.6 Kbps

D. 215.3 Kbps

Correct Answer: B

QUESTION 2

A customer has Avaya Aura components at release 6.3 and they would like to use the Avaya IXTMWorkplace clients to
take advantage of Avaya Aura Device Services (AADS) in their deployment.

What is the minimum release of Avaya Aura Session Manager that will support AADS?
A.6.3

B.7.0

C.7.0.1.2

D.7.1

Correct Answer: D

QUESTION 3
You are putting together a proposal for a Communication Manager solution that has the following

requirements: 300 9611G telephones running H.323 275 9641GS telephones running SIP 75 Analog telephones 350
3129 telephones 100 Avaya EquinoxTM clients

300 9611G telephones running H.323 275 9641GS telephones running SIP 75 Analog telephones 350 J129 telephones
100 Avaya EquinoxTM clients How many endpoints will directly register/connect to Communication Manager?

A. 375

B. 400
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C. 625

D. 1025

Correct Answer: A

QUESTION 4

While working on a proposal that includes Avaya IX messaging you are comparing required features and licensing.
Which Avaya IX Messaging feature requires an additional license?

A. Text to Speech (TTS)

B. Single sign on (SSO)

C. Sync with Office 365 and Google emails
D. Additional non-Avaya PBX integrations

Correct Answer: A

QUESTION 5

A customer has an existing single-location Communication Manager solution with G650 gateways and ISDN trunks. You
have been asked to design a new location for 200 users. The new location will support IP telephones, basic emergency
calling to public safety agencies, and local PSTN trunks. There is a requirement for Standard Local Survivability.

Which design meets the customer\\'s requirements?

A. G430 gateway, IP telephones, MM711 analog media module, and analog central office lines

B. G450 gateway, IP telephones, MM716 analog media module, and analog central office lines

C. G430 gateway, IP telephones, MM710 DS1 media module, and an ISDN-PRI from the service provider

D. G450 gateway, IP telephones, MM710 DS1 media module, and an ISDN-PRI from the service provider

Correct Answer: A
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